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QUESTION 1

Both Item A and item B are batch-tracked items. Your customer has been using both the IBLPNs UI screen and the
Batch Management UI screen to manage batch-tracked inventory. Your customer only has reserve locations for storage
and doesn\\'t use systematic ASN verification process in WMS Cloud. There are two records in the Batch Management
UI screen of tem A and item B respectively, and these two records have the same value in the Batch Number field. In
the Batch Management UI screen, when you select the record of item A and apply a lock code, which two statements
are true? (Choose two.) 

A. Inventory History record 22 ?Lock Container ?Before ASN Verification will be generated 

B. Inventory History record 23 ?Lock Container ?After ASN Verification will be generated 

C. This lock code will be applied to the record of item B automatically in the Batch Management UI screen. 

D. This lock code will appear in the Batch Nbr Lock field in the IBLPNs UI screen for all the IBLPNs of item a with this
batch number. 

E. This lock code will appear in the Number Locks hyperlink in the IBLPNs UI scree for all the IBLPNs of item A with this
batch number. 

Correct Answer: BD 

 

QUESTION 2

You are configuring the WMS Cloud to have multiple facilities and, as an added measure of control, you 

want to easily identity the facility by looking at the barcode printed on the outbound carton. 

Identify two valid configurations that are available in the Sequence Counter UI that you can use for the 

OBLPN. (Choose two.) 

A. You can set up the count increment in Facility 1 to increase by 1, the count increment in Facility 2 to increment by 2,
and so on. 

B. You can set up the sequence counter OBLPN to "Append Facility Code to Prefix". 

C. You can specify different counts for the different facilitates within the Sequence Counter. 

D. You can configure the sequence length for this facility to be different from the other facilities. 

E. You can specify the "Color Code" in the Sequence Counter. 

Correct Answer: BC 

 

 

QUESTION 3

Which statement is true regarding Replenishment Rules? 
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A. Replenishment Rules created at Parent company view can be edited at Child company view. 

B. Replenishment Rules are used for defining Wave Template. 

C. Replenishment Rules are used for Inventory movement between two warehouses. 

D. Replenishment Rules are only editable at the company level in which it was created. 

Correct Answer: B 

 

QUESTION 4

Your customer is a Third Party Logistics operator (3PL) and ships multiple customer\\'s orders from two centralized
facilities, one on each coast of the country. How do you set up the Facility, Company, and User hierarchy in the system
(in sequential order)? 

A. Because of the distance between Facilities, you recommend two WMS Cloud instances for your customer. 

B. Create the 3PL\\'s customer\\'s Companies first, then the Users, next assign customers and Users to the Facilities,
and finally create an Admin account for the 3PL in each facility. 

C. Create the Parent 3PL Company, then the Facilities, next the Companies, next re-create each User in each facility he
or she is eligible for work. 

D. Create the Parent 3PL Company, then nested Locations Zones to represent the facilities and the customer
Companies and finally add the Users. 

E. Create the Parent Company as the 3PL, then the two facilities, next the Users in the facilities, and the Companies
that represent the customers, and the users to the companies. 

Correct Answer: E 

 

 

QUESTION 5

Select the two routing configurations that are used to specify routes for outbound loads. (Choose two.) 

A. the Routing Mode on the Carrier UI Screen 

B. the company parameter PACKING_ROUTING_MODE 

C. the Routing Mode on the Wave Template D. the Routing_Mode parameter on the Loading RF Transaction 

Correct Answer: AD 
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